>0.65*0.5*ecm) continue;

if(Esumofall<=0.25%0.5%ecm) continue;
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ds<10) continue;
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Nchrgds: # W42 i #%

Thetaof2emaxofall: &/ ik 2 & K121% %k A

Emax2ofall: & Xi2iFfe =

Esumofall: TAR4E &

Thetaofchrgds: |01+02-180|; Phiofchrgds: ||¢@1-¢p2|-180|
Nisontrs: I8 % & -F %k



* * ¥ * *¥ * * * ¥ ¥ * ¥ ¥ * *

0.909285  0.998536  1.00000C

0.871366 0.7114¢C
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10  0.721370 0.008442 0.106906 0.012038 0.259740
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7240  0.969634  0.176138

L 4 =il

* 5 0.849515 0.962066  0.056322 0.989450 0.699 0.64504
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if(Esumofall<=0.25%0.5%2.8) continue; \

if(Nchrgds==2&&(Nisontrs<2| | (Thetaofchrgds<15&&Phiofchrgds<ms; continue;
* if(Nchrgds==3&&Thetaofchrgds<15&&Phiofchrgds<10) continue;
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